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# include €<mat h.h>
a=(x1=0)?(exp(x)-1)/x :1;

= (fabs(x) <1.e-5) ? (exp(x)-1)/x : 1;
= (fabs(x) <1.e-5) ? (exp(x)-1)/x : 1+x/ 2;

exp(1.e-5)=1.0000101 ~ 1077, + /-
a=1.01 z°/6
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a=(fabs(x) <1.e-2) ? (exp(x)-1)/x : 1+x/ 2;

1077/107% =10"°  :Mnaw
float
(10752/6 ~ 107>  :yIX'p

a=(fabs(x) <1.e-5) ? (exp(x)-1)/x : 1+x/ 2;

1071%/10° =107  :aw

double

(107°)2/6 ~ 10711 :yixp7
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int number[10];

double oilprice[31];
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--(numbers|2]);

numbers|[2] = numbers|2]-1;




int mult_arr[4][7] ={
{1,2,5,6,9,3,4},

{5,6,7,8,9,-10,5},
{1,2,5,6,9,3,4},
{
]

5,6,7,8,9,-10,5)

J
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for (1=0;1<4; i1+
for (j=0;]<7; ]+
printf ("%I\ n",3*mult _arr[i][j]);




t ype name(argument s) type: int (def ault)
{ void (procedure)

declarations; _ L
< T void positive(int a)

} f

if (a>100)

int sum(int a, int b) {

{ printf (“large\ n”);
int result; return;

result =a +b; }

return result; it (a>0)
\ printf (“positive\ n”);




t ype name(argument s) type: int (def ault)
{ void (procedure)

declarations; _ L
< T void positive(int a)

} f

if (a>100)

int sum(int a, int b) {

{ printf (“large\ n”);
int result; return;

result =a +b; }

return result; it (a>0)
\ printf (“positive\ n”);




# include <stdio.h>

int sum(int a, int b);

\

int sum(int, int);

main()

{
printf ("1 +1=2%d\n", sum(1,1));

]

int sum(int a, int b)
{
Int result;
result =a +Db;
returnresult;

]




